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Year 6 Spring 1 Maths Activity Mat 1

Section 1

Order the following numbers from smallest to largest:

49946 G4 9LY 49 LO4 44499 49 449

Section 2

reasonable estimates.

324 % 5 = 1600

Here are some estimated answers
to some calculations. Tick the

Section 3
A farmer picks 97 apples. He
sells them in boxes of 12. How
many boxes can he fill from the

97 apples?

smallest Targest 5069 + 2962 = 7000
B O
Section &
‘simplify the following fractions: - -
Section 7 Section 8
N N Write a ion of | | Some children research children's favourite
s 3 " a cylinder. fruit. They show the results in a pie chart.
Section 5 Section 6
Caleulate: Convert the following:
03x10- Hgr——9
06 %10 kg = 2000g 32 children were asked about their favourite
fruit. How many children chose each fruit?
05x10= appte| ], Banana [, orange
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Year 6 Spring 1 Maths Activity Mat 2

Section 1 Section 2 Section 3 Section &
What is the value of the | | A theatre sells 782 tickets. | | Calculate: Use <, =, or > to compare these
digit in the thousands place | | 393 are adult tickets, 214 are fractions.
in the number 806 5647 student tickets. The rest are 5 n
child tickets. How many child 3 E 3
tickets are sold? 8)5248 e
H “
g E 16
\ \ AR
Section 5 Section 7 Section 8
Calculate: Name this shape. Reflect this shape about the thick black vertical line.

Section 6
5 miles is 8km.

How many miles in 24km?
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